Kamber £

Kit de réparation simple 8450 KAMBER
Einfacher Reparatursatz 8450 KAMBER

A

A
_—

Simple repair kit 8450 KAMBER
Kit de reparacion simple 8450 KAMBER



Kamber

EJ MAKES THE PERFECT LINE

2024
, Vis d’arrét aiguille M3-3
@3 Verschlussschraube Nadel M3-3
Clamp-screw for needle M3-3
Tornillo de bloqueo aguja M3-3

2027

Ecrou serre-joint
Stopfblichse

Fixing nut clamp
Tuerca cierrajuntas

8058 (8059 + 2 x 8060 + 8061)
Jeu de joints aiguille
) (@@ ) TO Dichtungssatz fiir Nadel
( ( o~ Needle packing gasket
Juego de junta aguja

8059A
Ressort centre

(W Feder

Center spring
Muelle centro




Kamber

EJ MAKES THE PERFECT LINE

8062
/{j\ Serre-joint pour 8058
B Stopfbiichse fiir 8058
( —L/ Needle packing nut for 8058

Abrazaderas para 8058

8404

O-Ring pour piston
O-Ring zu Kolben
O-ring for piston
Junta para piston

8407

O-Ring aiguille
0 O-Ring fiir Nadel

O-Ring for needle

O-Ring para aguja

9510
O-Ring

o O-Ring
O-Ring

O-Ring




Kamber £

KAMBER SA "
Chemin des Champs-Courbes 19 L

CH-1024 Ecublens

Tel.: +41 21 691 69 51
info@kambersa.ch




